=i
=
3}
=
o
7t
A
Of
=
=3
o
xi
=
X
=
i
G
=
=

248

2x2 910|0
MIG o Ho 20
AHICIHAZS
T 4
Eg HE7tA S4 ¥ 8
Jis AWS
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C |Mn| Si | Cr Ni | Mo N/mm % J(kgi-m)
(kgf/mm?) 9
0.9 0C:
1.0 110(11)
' 2 2 2| -
12 0.0411.80 {0.32{19.82 | 10. 600(61) 40 196
1.6 49(5.0)
0.9 0C:
1.0 98(10)
12 0,021 175 ]0.34 (19,74 | 9,91 570(58) 42 196
1.6 59(6.0)
1.0 0C:
1.2 110(11)
16 0.020( 1,75 0,84 19,91 [10.06 580(59) 42 _196:
2.0 59(6.0)
1.0
1.2 0.06(1.75]0.34(2395(13.05| — 610(62) 39 -
1.6
1.0
1.2 0.021| 1.77 10.36 |23.86 | 12.83 | — 580(59) 40 =
1.6
1.0
12 0,022 1.80 {0.85|23.70| 12,95 580(59) 40 0C
1.6 : ' ’ ) ) 88(9.0)
2.0
1.0 0°C
1.2 0.09]1.76 | 0.35]26.73|20.75 600(61) 38
16 78(8.0)
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